RACE 1	VOLT <b>2100</b>	RANK
Only ranking.		A: <b>1-4</b>
		B: <b>3-7-6-5-9</b>
		C: <b>10-2-8</b>

Top 4: **1-4-3-7** 

Quinella:

Horses: 1, 4 U-Horses:

Total:  $1 \times 50 = 50$ 

Trifecta:

1: 1, 4

2: 1, 3, 4, 6, 7

3: 1, 3, 4, 6, 7

Total: 24 x 2 = 48

RACE 2	VOLT <b>2100</b>	RANK
	VOL: <b>2100</b>	

Only ranking.

A:

B: 4-2-8-5-3-7-6-1

C: **9** 

Top 4: **4-2-8-5** 

### Quinella:

Horses: 2, 5, 8 U-Horses: 4

Total: 3 x 40 = 120

### Trifecta:

1: 2, 4, 5, 8

2: 2, 4, 5, 8

3: 2, 4, 5, 8

Total: 24 x 2 = 48

RACE 3	AUTO <b>2100</b>	RANK
Only ranking.		A: <b>5-9</b>
		B: <b>4-2-1-6-8</b>
		C: <b>7-3</b>
		Top 4: <b>5-9-4-2</b>
Quinella:	Trifecta:	

Horses: 5, 9 U-Horses:

Total: 1 x 200 = 200

1: 5, 9 2: 5, 9

3: 1, 2, 4, 6, 8

Total: 10 x 2 = 20

RACE 4	, A	AUTO <b>2100</b>	RANK	
Only ranking.			A: <b>7-8-5</b>	
			B: <b>6-4-3</b>	
			C: <b>1-2</b>	

Top 4: **7-8-5-6** 

Quinella:

Horses: 5, 7, 8 U-Horses:

Total:  $3 \times 50 = 150$ 

Trifecta:

1: 5, 7, 8

2: 5, 7, 8

3: 5, 7, 8

Total: 6 x 2 = 12

RACE 5	AUTO <b>1609</b>	RANK
Only ranking.		A:
		D 422165
		B: <b>4-2-3-1-6-5</b>
		C:
		Top 4: <b>4-2-3-1</b>

Quinella:

Horses: 2, 3 U-Horses: 4

Total: 2 x 50 = 100

Trifecta:

1: 2, 3, 4 2: 2, 3, 4

3: 1, 2, 3, 4, 5, 6

Total: 24 x 2 = 48

### FRIDAY, FEBRUARY 23



RACE 6

V64-1

**AUTO 2100** 

**RANK** 

**2 Fashiononthehill** is a great horse and he was completely superior second last in fine style. Worse recently and has paused, but Frode is very satisfied and the horse comes well prepared. Nailed. **6 Take My Name** was run to the lead last time and should have won, but is well ahead again. **10 Monetary Canter** is a good horse but has been away for a very long time. **12 Yolo** is good but gave up too easily as the big favorite last time and is in a tough lane now.

A: 2

B: 6-10-12-9-3-1-11-4-5-8-7

C:

Top 4: **2-6-10-12** 

Quinella:

Horses: 6, 10, 12 U-Horses: 2

Total:  $3 \times 40 = 120$ 

Trifecta:

1: 2

2: 6, 10, 12

3: 1, 3, 4, 5, 6, 7, 8, 9, 10, 11, 12

Total: 30 x 2 = 60

RACE 7

V64-3

**AUTO 2100** 

**RANK** 

**7 Jackson Trot** was really nice in the victories and was embarrassed to canter at the start last time. The coach is a great optimist and a suitable task. our pick in open race. **12 Burn** is in top form and flew forward last time to a goal photo loss after quite a late gap. Good driver again. **6 Llewellyn West** has really fired up and won two in a row. Countered for victory last time and our top favorite again. **4 Princess Viking** is fast and should be able to get back the leader again.

A: **7-12-6** 

B: **4-1-2-5-3-8-11** 

C: **9-10** 

Top 4: **7-12-6-4** 

Ouinella:

Horses: 6, 7, 12 U-Horses:

Total:  $3 \times 40 = 120$ 

Trifecta:

1: 7, 12

2: 1, 2, 4, 5, 6, 7, 12

3: 1, 2, 4, 5, 6, 7, 12

Total:  $60 \times 2 = 120$ 

### FRIDAY, FEBRUARY 23



RACE 8	V64-5	AUTO <b>1609</b>	RANK

**5 Kong Du Dalm** is really good, which he showed at Solvalla, among other things. Now he started as late as last Saturday and went brilliantly in the sky. quick starter and lace favorite. **6 Access** was clearly improved in style last time after some changes and won easily. American bike and barefoot forward now. **3 Lucca** wasn't at his best last time but the coach sounds up. **7 Photo Fighter** mostly kept the pace last time but can do a bit and has run under his belt now.

A: **5-6-3** 

B: **7-4-9** 

C: 8-2-1

Top 4: **5-6-3-7** 

#### Ouinella:

Horses: 3, 6 U-Horses: 5

Total: 2 x 50 = 100

#### Trifecta:

1:5

2: 3, 6 3: 3, 4, 6, 7, 9

Total: 8 x 2 = 16